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2)  Without evaluating the expressions, tell which is greater, 
Explain:________________________________________________________________________
______________________________________________________________________________
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The Zero and Negative Exponent
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Write 9°, 9%, and 972 in order from least to greatest.
Show your work.

Solution:.
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Lizbeth says that (-12)~> equals a positive number
because the product of two negative integers is a
positive integer. Do you agree? Use what you know
about exponential expressions to explain.
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Tyler simplified the expression 5* - 5%, All of his work
except his answer is shown below.

54,579 = 549

=55

=7
Which expression is the correct answer for Tyler's work?
A

|~ o=

B
C
D

v oo
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Complete the table.

Expression

100102

Simplified Expre:
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Simplify: 22;" Write your answer with a
positive exponent.

Show your work.

Solution:.
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Which expression is equivalent to (3¢ - 5937

1
A T
B 15%
< @
D 15°

Tania chose B as the correct answer. How did she get
that answer?
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Jacob decides to save money for a new tablet. He will save
$3 the first week and then triple the amount he has saved

each week for 5 weeks. Write and evaluate an exponential
expression to find how much money Jacob will have in his
savings in Week 5.

Represent the problem with repeated multiplication and
exponential expressions.

Week 5 expression: 3°
Evaluate the expression:3° =3-3-3-3-3 =243

Jacob will have $243 in his savings in Week 5.

[ Look at the table. How many times greater is the amount
in Jacob's savings in Week 3 than in Week 22

How much will Jacob have in his account in Week 3?

[B) Jacob thinks that 3%is 5 - 5 - 5, or 125. Explain what Jacob
is doing wrong.

&

Vocabulary

base the number
used as a factor inan
exponential expression.

5isthe base.—» 5*
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Nicholas says that (26)(29) equals 2" and also equals 45.
Do you agree? Explain your reasoning.
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B simplify: 100°.

Write (-32) 2 as an expression without a negative
exponent.

[E) Write J; as an expression with a negative exponent.

@ Compare 8° and 8-2. Which is greater? Explain
your reasoning.

Simplify (129)(129). Write your answer using an exponent.
yo g an exp
Explain how you found your answer.

@ Whatis the value of xin the equation (351 = 17 Explain.

Write an expression using exponents that is equivalent
to each of the following expressions.

a.573

b.(-16)7% =

1
g
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Is 672 posi
itive
or
negative? Explai
lain.





